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A~y

~If the data of the variables X and Y is given as follows:
wx=30, Xy=17, Yxy=91, Yx?2 =150, Yy2=59 , n=8,then:
1) X =&%An=3%3

a) 2.125 )3.75 c)5 d) none of
these
2) Y =E4fn = 2.7
@2‘1‘2"5’ 3 b)3.75 )5 d) none of
these
3) Syy = ZKFowTy =335
\a)37.5 3 b)22.875  ¢)27.25 d) none of these
4) Syy = Zg ) 21T RAS
~a)37.5 \P) 22.8751-3 c)27.25 . d) none of these
5) Sxy = Txp-axy = 2H.3 S ——
2)37.5 b) 22.875 \ ¢)27.25 d) none of
these L— '
6) b = Sxy/sux < S U6666
a) 0.727 b)-0.6 c)1.19 d) none of
these
Na= F-vi= -6
a) 0.727 b)-06 ©)1.19 d)

none of these
8) The regression equation of y on x is:
\a) y=-0.6+0.727x) b)y=1.19+0.727x ¢) y=1.19-0.6x d) none of these

o _:‘__WX_N '

9) If X=10 then the predictive valudis: 4 =761 G Ue) = G0 F

Madduiuthie e

a)§ = 8.46 :@y‘;@ c)$=-4.81  d) none of these

10) The determination coefficient 12 is: -

 a) 0.9304 i\bi)’;O.’%’S@ S ©)0.964 d) none of these
' < bj—f—k—j}" = <319 1.5 - gé‘gc"“{gfi
vy 120 53¢

20
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Welcome to Minitab, press Fl1 for help.

Regression Analysis: y versus x

The regression equation is

Yy =8.53 + 0.118 x b = ab LE2S = W =%.534 (\B)AS) = \\4sg
R S I

Predictor Coef SE Coef T P

Constant 8.531 3.00¢4 2.84 0.015

X 0.1177 0.1443 0.82 0.431

§ =3.72641 R-5q = 5.3% R-Sq(adj) = 0.0%
— *(lg\ee) /

Analysis of Variance

Source DF SS MS F P
Regression 1 9.24 9.24 0.67 0.431
Residual Error 12 166.63 13.89

Total 13 175.87

Correlations: x, y

Pearson correlation of x and y =0.229 = \?

Tabulated statistics: x, y
Rows: x Columns: y

6.2 6.4 7.0 7.2 8.3 8.4 10.2 11.3 12.1 13.3 13.8 14.9 1s.

3
10.1 1 0 0o o o o 0 0 0 0 0 0
To.s o 0 o0 o 0o o 0 1 0 0 0 0
1.7 0o 0 0o 0 o o 0 0 0 0 1 0
(1)2.0 o 0 1 0o o o 0 0 0 0 0 o
54.8 o 0 0o o 0o o 0 0 1 0 0 0
37.3 o 0o o 1 o o 0 0 0 0 0 0
Ye.0 0 0 o 0o o o 0 0 0 0 0 0
21.6 o 1 0 0o o o 0 0 0 0 0 0
32.0 0 0 0o o 1 o9 0 0 0 0 0 0
22.2 o 0o o o o o 0 0 0 0 0 1
2.4 o o0 0o 0o o o 0 0 0 0 0 0
27.4 o 0 o o o 1 0 0 0 0 0 0
201 o 0o 0o o o o 1 0 0 0 0 0
30.8 o 0 0 0o o0 o 0 0 0 1 0 0

211 1 1 1 1 1 1 1 1 1 1 1 1

1

16.4 A1l



10.1
10.5
11.7
12.0
14.8
17.3
18.8
21.6
22.0
22.2
26.4
27.4
29.4
30.8
All
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Cell Contents: Count

Pearson's r 0.301099 ~
Spearman's rho 0.301099

Correlations: rank x, rank 'y

Pearson correlation of rank x and rank y = 0.301




R

larger or smaller) unless ve cam be  sure

-

Tor Covgeloion\

| T o T —pxmorses R E%@%
o o , e STV R gy Y
¥ = 7.0928686 + 0,53018%2 (25) = 20,347399¢ Do T SR s

: T o ot i sing
; T in Example 5.1, we E.M Sﬁ.mwmwwmﬂ .:o,z e for
- . o ; . ) % ﬁ’”.ﬂ as | o WMO)—J “bu :.
So we vwm&na.gmm a camel will consume 20.3 : : St predict water conshmp
temperature is 25 C, i

- Water
Y Water - , .
The proportion of the variation in the wate

nsumptio E

camel (Y) that is explained by the temperature ( , - AR . . 6.2 MM.M - 16.4
the coefficient of determination where - = - " E 14.9 »p.m 12.1
' ' m.p : d - .

s o 12.0 HM M |

p? o 8SR _ xy 0.2 1.7 3
TssTC s 15.3 10,5 1.

¥y v m. 17.3- 7.2

_ 0.5301812(353.76571) _ 187.55993

.

1361,2293 T 1361.2293 to the mozm_&wnwwwnga. | v | |
. ,%mm..mgmancow wcwmwwsmom the least squares .nounmmﬂoﬁ lin
wM MWMMMNM MM:m on the mowﬁnmnhawwmnwaqr onkey i ¢
| Predict the .zwwow. consumption © .
“MMMWMWMMM .W,Mowmm Mm the model for prediction?

Therefore, only about 14X of the differences
consupption of camels is explained by temperature

i By

-~y . P A % 8
d .—.—Aw ﬂ——m u.nv_uc—rn‘—c: [s) v uuwo imA_

’ . ! .
Q% ﬂd.vm - BAW= —.\OO ﬂwﬂma ﬂn al m».\H.m ﬁ >HW mﬂ
W—h .on n Gm

N at fi
, | . [1980)1 newly-hatched larvae were uuwmma :M. M”.“Mm per @
between Y and X is linear cmly for the ramge in~uk : A B iee (that is, with a oou«wwswﬂ‘“‘”_mwm the larvae
taken data on X. In Example 5.1, this ramge of K is : _ ur) ‘and . the percent mOT Aw. e v
30.8. We call this range of I dats fros the ssall Lig i : . , , )

the largest value of X the scope of the é«
Y, we should not predict using X valwes

nsi
0.8
1.6
.4

indeed hold outside. R

2 . .
22 . 143
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% .
Given below are nrm daily average percent relatiy

and the daily average temperature (in .ovwmo

nqr the vnwmuwma was in vnmawoapsm the
érage. cost (in 8.R. ) for tomatoes

tons).
v ) 1upLP. , ; £ unoazowpos (in tin and Sherif (1993)]:
Hzocmnmmﬁnm alid . , {ssted ocauca levels [Al-Ibrahi

t

wmu.m.duu.a.m, ! , 5 . ﬁw“ﬂd@pr
Ly, . S A : - 10 11510
19 oy, S e .20 1472
19 i 30 . 1434
21 0 1398

Nh,. 50 . 1363 S

Mw, 100 12086
T 350 1079
If we want to predict the- relative  humidi 200 982
temperature, - 250 . 915
a) Conglruct a scatter diagram. 300 . . 878

b) Find the equation of the least squates . ’

c) Plot the line on the .scatter diagram

d) mnmnwon the relative humidity if-f]
25 C in Qassim.

e) What is the scope of the model? .

f) What proportion of the variation in-
is explained by temperature?

o diagram.
ngtruct a scatter

M”M the equation of the least squa
lot. arm line on the scatter awwmnws.
‘What.is the. mooum of the aowmww:m mncae .
>QQHAwo=wH date were given 1n

ocnocﬁ ><mﬁmnm Cost

. 2 350 .- 871

Suppose we want to use the dry weight of'a 400 894

grams) to predict the ifon content of the:s A ANENE L ‘ ) » : 450 . 947

sample of 12 soybean shoots vmn<mmammu&:pneq ‘HAYBTALE . ) i 500 1030

planting gave [as mmanswamn from a mwmur.wn. 550 1143

(1987)1: , o ter diagram us

cn“ Weight Iron Content Dry We m~oe this ﬁaauaposww data- ozwesm MMMM a linear model

2.35 60 : 3.0 a different symbol. Do you t H=Om the model used
2.75 80 3.1 wuunovnwwwm outside the uoou“s or why not? v
2.85 65 3.15 t :awsm av« aacwﬂwos in de v
2.95 - 78 3.4 \
2,95 114 3.6
3.00 96 3,9

For this data,
a) Construct a scatter diagranm. -
b} Find the equation of the least squares
c) Plot the line on the scatter diagras A

d) Predict the iron contemt of a uulgn.ub.ﬁ -gﬁ wuﬂm WsHm
dry weight is 2.9 g. : Ty

i» L

-~ R

e) What is the uoovm om the lonnnw . .,mrw

f) What neamacd .

using the ' ocavce or
Given below are data for

res HONHOWEwOE HHSm



